Circles Continued - Name

1. Find the equation of a circle with center (-4, 47/18) that contains the point (0, 128/9)
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3. Find the cootdinates of the point where the circle crosses the positive x axis and label it B on the -

graph
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4. Find the coordinates of the point where the circle crosses the negative y axis and label it C on the
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5. Write the equation of line AB
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6. Write the equation of the perpendicular bisector of line BC
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7. Write the equation of the tangent line thru B
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8. AB is 2 em less from P then CD. The two circles are concentric circles such that the radius of the
larger circle is three times the radius of the small circle. AB | CD and CD = 12.
Find AB and the radii of the 2 concentnc circies.
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9. In a circle whose radius is 10 inches a chord is 6 inches from the center. Mow long is the chord?
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10. A chord 18 inches long is 15 inches from the center of the circle. What is the radius of the circle?
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11. Two parallel chords of a cirgle each have length 18 inches. The distance between them is 12
inches. Find the radius of tha circle.
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12. Two concentric circles have radii 2 mches and 6 inches. Find the length of any segment that is a
chord of ’me larger circle and is tangent to the smaller circle.
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Solutions: 8. 2B0ecm, 2.5cm, 7.5cm 9. 187 10. 17" 11, 107 12, 232
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